
Multiply by Negative Powers of Ten (B)Find each product.
22 × 10⁻¹ = 89 × 10⁻³ =
77 × 10⁻² = 99 × 10⁻¹ =
21 × 10⁻¹ = 53 × 10⁻² =
81 × 10⁻¹ = 65 × 10⁻² =
24 × 10⁻² = 93 × 10⁻² =
55 × 10⁻¹ = 97 × 10⁻² =
47 × 10⁻² = 95 × 10⁻² =
52 × 10⁻² = 71 × 10⁻³ =
36 × 10⁻¹ = 79 × 10⁻² =
54 × 10⁻¹ = 73 × 10⁻³ =
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Multiply by Negative Powers of Ten (B) AnswersFind each product.
22 × 10⁻¹ = 2.2 89 × 10⁻³ = 0.089
77 × 10⁻² = 0.77 99 × 10⁻¹ = 9.9
21 × 10⁻¹ = 2.1 53 × 10⁻² = 0.53
81 × 10⁻¹ = 8.1 65 × 10⁻² = 0.65
24 × 10⁻² = 0.24 93 × 10⁻² = 0.93
55 × 10⁻¹ = 5.5 97 × 10⁻² = 0.97
47 × 10⁻² = 0.47 95 × 10⁻² = 0.95
52 × 10⁻² = 0.52 71 × 10⁻³ = 0.071
36 × 10⁻¹ = 3.6 79 × 10⁻² = 0.79
54 × 10⁻¹ = 5.4 73 × 10⁻³ = 0.073
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